Name: ___________________________


Chemistry I
Gas Laws Worksheet #3
Helpful Relationships

 
K = ºC + 273





1.000 atm = 
760.0 mmHg

ºC = (ºF-32)/1.8






760.0 torr

ºF = (ºC x 1.8) + 32






14.69 psi










101,325 Pa

II.
Rearrange the following equation to solve for the specified variable

P1V1/T1 = P2V2/T2
(a) Solve for V1 = 

(b) Solve for T1 = 

(c) Solve for T2 =

(d) Solve for V2 =
(e) Solve for P1 =

(f) Solve for P2 = 

III.
Solve the following Combined Gas Law problems (All temps must be in K)
(a) A bacterial culture isolated from sewage (eeeww!) produced 37.6 mL of methane at 31 ºC and 753 mmHg. What is the volume of this methane at 0 ºC and 760 mmHg?
(b) A sample of pantothenic acid, a B vitamin, weighs 71.6 mg and gives 3.84 mL of nitrogen gas at 23 ºC and 785 mmHg. What is the volume of the nitrogen at 100 ºC and 935 mmHg?
(c) A bottle of soda containing 5.00 mL of carbon dioxide under a pressure of 20.00 atm and at a temperature of 10.0 ºC is heated to 55 ºC and the lid is removed so that the pressure on the gas is 1.00 atm. What is the new volume of the carbon dioxide gas?
(d) Pepsi-Cola wants to bottle 2.00 L carbon dioxide, originally at 35 ºC and 1 atm, into 1.00 mL at 15 ºC. What pressure must be placed on the gas to achieve this volume?
